SP12M Tubedamper Assembly

M3 Nut
Step 1 ®
Mount the balljoints and washers. @ \ W3 Wosher
It's necessary to use the optional Motorpod M3 Nut @
and SP12M Damperplate | ‘
‘ J

- Balljoint
M3 Washer ‘\/ ﬂ r %

M3 Washer

M3 Washer

Balljoint
M3 Nut

M3 Washer

| M3 Washer
M3 Washer @ Balljoint

M3 Nut @ %
Balljoint

S
Step 2 2%

Ballcup

&)

Dampershaft

Built 2 identical Tubedampers

M3.5 Thread
in tube

Step 3

Snap the ballcups of the damper
on the balljoints.
Right side is shown, do the same for the left side.




